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Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate synonym of the given word.

ROWDY
Ans x 1. Charming
2. Boisterous

3. Amenable

X X €

4. Calm

Question ID : 8161613063
Status : Answered
Chosen Option : 4

Q.2 In the sentence identify the segment which contains a grammatical error.

I learnt to adapt quickly to new schools because we moved to new places quite frequent.

Ans J 1. quite frequent
x 2. | learnt to adapt quickly
x 3. to new schools

x 4. we moved to new places

Question ID : 8161613043
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate synonym of the given word.

BARREN
Ans J 1. Desolate
2. Fertile

3. Bountiful

X X X

4. Fruitful

Question ID : 8161613062
Status : Answered
Chosen Option : 1




Q.4

Ans

Select the most appropriate meaning of the given idiom.

Once in a blue moon

x 1. An incident that is scary
J 2. Happening only rarely
x 3. Happening only once in a lifetime

x 4. An unforgettable experience

Question ID : 8161613056
Status : Answered
Chosen Option : 2
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
To close the day on a high note, we decided to spend the rest of (1) evening at a 100-
year-old historic watering hole in downtown Juneau. We wanted to (2) our bear
sightings and how it feels to be in the wild. While raising a toast and reminiscing (3) our
time in the woods, | felt a deeper connection with nature. It was a (4) experience to walk
for miles with no particular reason or intention other than absorbing (5) solitude of the
jungle, open to the sky.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 1.
Ans x 1. theirs
X 2. ours
J 3. our
x 4. their
Question ID : 8161613045
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
To close the day on a high note, we decided to spend the rest of (1) evening at a 100-
year-old historic watering hole in downtown Juneau. We wanted to (2) our bear
sightings and how it feels to be in the wild. While raising a toast and reminiscing (3) our
time in the woods, | felt a deeper connection with nature. It was a (4) experience to walk
for miles with no particular reason or intention other than absorbing (5) solitude of the
jungle, open to the sky.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 2.
Ans x 1. celebration
«- 2. celebrate
x 3. celebrates
x 4. celebrated
Question ID : 8161613046
Status : Answered
Chosen Option : 2




Q.7

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

To close the day on a high note, we decided to spend the rest of (1) evening at a 100-
year-old historic watering hole in downtown Juneau. We wanted to (2) our bear

sightings and how it feels to be in the wild. While raising a toast and reminiscing (3) our
time in the woods, | felt a deeper connection with nature. It was a (4) experience to walk
for miles with no particular reason or intention other than absorbing (5) solitude of the

jungle, open to the sky.

SubQuestion No : 7
Select the most appropriate option for blank No. 3.

x 1. for

Question ID : 8161613047
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
To close the day on a high note, we decided to spend the rest of (1) evening at a 100-
year-old historic watering hole in downtown Juneau. We wanted to (2) our bear
sightings and how it feels to be in the wild. While raising a toast and reminiscing (3) our
time in the woods, | felt a deeper connection with nature. It was a (4) experience to walk
for miles with no particular reason or intention other than absorbing (5) solitude of the
jungle, open to the sky.
SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 4.
Ans « 1. profound

x 2. sincere

x 3. dismal

x 4. comical

Question ID : 8161613048
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

To close the day on a high note, we decided to spend the rest of (1) evening at a 100year-old
historic watering hole in downtown Juneau. We wanted to (2) our bear sightings and how it feels
to be in the wild. While raising a toast and reminiscing (3) our time in the woods, | felt a deeper
connection with nature. It was a (4) experience to walk for miles with no particular reason or
intention other than absorbing (5) solitude of the jungle, open to the sky.

SubQuestion No : 9
Q.9 Select the most appropriate option for blank No. 5.

Ans x 1. some

2. the

v
x3.a
x

4. much
Question ID : 8161613049
Status : Answered
Chosen Option : 2
Q.10 Select the most appropriate word to fill in the blank.
There was a range of that kept tourists engaged during the International Film Festival
in Goa.
X 1. employments
x 2. conversions
J 3. activities
x 4. moments
Question ID : 8161613065
Status : Answered
Chosen Option : 3
Ans
Q.11 Select the most appropriate meaning of the given idiom.
To leave someone in the lurch.
Ans x 1. To put someone at ease
J 2. To desert someone in his difficulties
X 3. Constant source of annoyance to someone
x 4. To come to compromise with someone
Question ID : 8161613057
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate ANTONYM of the given word.

CONCEALED
Ans x 1. Masked

x 2. Hidden
J 3. Revealed

x 4. Discussed

Question ID : 8161613054
Status : Answered
Chosen Option : 3
Q.13 Select the INCORRECTLY spelt word.
Ans x 1. Distance
x 2. Commitment
x 3. Existence
J 4. Arguement
Question ID : 8161613059
Status : Answered
Chosen Option : 4
Q.14 In the sentence identify the segment which contains a grammatical error.
The environment protection policy need to become stricter if we wish to combat climate
change.
Ans x 1. if we wish to
J 2. need to become stricter
X 3. The environment protection policy
x 4. combat climate change
Question ID : 8161613042
Status : Answered
Chosen Option : 2
Q.15 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.
A. Some such common events that bring us happiness for a short time include passing an
exam, getting a job, going on a vacation or buying a dream house.
B. Happiness is more difficult to achieve than peace as we keep striving for it daily.
C. Peace, on the other hand, is sustainable for many years, costs less energy, and doesn't
depend on external events such as these.
D. Events that we struggle for in our daily lives to bring us happiness only come randomly,
stay for a short time and subside.
Ans X 1.BCAD
X 2.BACD
o 3.BDAC
X 4.AcDB
Question ID : 8161613050
Status : Answered
Chosen Option : 1




Q.16 Select the correct passive form of the given sentence.

Ans

We are arranging an exhibition of sarees from different states of India at Dilli Haat.

x 1. An exhibition of sarees from different states of India was arranged by us at Dilli
Haat.

x 2. An exhibition of sarees from different states of India has been arranged by us at Dilli
Haat.

x 3. An exhibition of sarees from different states of India will be arranged by us at Dilli
Haat.

’ 4. An exhibition of sarees from different states of India is being arranged by us at Dilli
Haat.

Question ID : 8161613040
Status : Answered
Chosen Option : 4
Q.17 Select the INCORRECTLY spelt word.
Ans x 1. Balloon
x 2. Adulteration
J 3. Bunglow
x 4. Irritant
Question ID : 8161613058
Status : Answered
Chosen Option : 3
Q.18 Select the word which means the same as the given group of words.
Someone who freely gives money and help to people who need it
Ans x 1. Philologist
J 2. Philanthropist
x 3. Impressionist
x 4. Receptionist
Question ID : 8161613061
Status : Answered
Chosen Option : 2
Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No improvement’.
We've had a long day. We should rest now, shouldn't we?
Ans x 1. won't we
x 2. haven't we
J 3. No improvement
x 4. hadn’t we
Question ID : 8161613053
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate word to fill in the blank.

I had a stroke at an early age, but what | thought was a great
better.

Ans x 1. lowliness
2. setback

3. moodiness

X X €

4. significance

at that time changed my life for the

Question ID : 8161613064
Status : Answered
Chosen Option : 2
Q.21 Select the correct indirect form of the given sentence.
Roopa said to me, "Please accompany me to the market."
Ans x 1. Roopa said please accompany me to the market.
X 2. Roopa said to me that you must accompany me to the market.
J 3. Roopa requested me to accompany her to the market.
x 4. Roopa is requesting me to accompany her to the market.
Question ID : 8161613041
Status : Answered
Chosen Option : 3
Q.22 Select the word which means the same as the given group of words.
Arrangement of events or dates in the order in which they happen
x 1. Ecology
J 2. Chronology
x 3. Geology
x 4. Archaeology
Question ID : 8161613060
Status : Answered
Chosen Option : 2

Ans




Q.23 Given below are four jumbled sentences. Out of the given options pick the one that gives their correct
order.

A. He flew down, searched for her until he found her and then asked her to become his wife. B. A

hawk flying about in the sky one day decided that he would like to marry a hen whom he often saw

on earth.

C. The hawk was delighted and flew away after giving her a ring as an engagement present,and telling
her to take good care of it.

D. She at once gave her consent on the condition that he would wait until she could growwings like his,
so that she might also fly high.

Ans 1. BCDA
2. BADC

3. BDCA

X X € X

4. ADCB

Question ID : 8161613051
Status : Answered
Chosen Option : 2

Q.24 Select the most appropriate ANTONYM of the given word.

ADMONISH

o L. Applaud
X 2. Belittle
X 3. Harden
X 4. Attack

Question ID : 8161613055
Status : Answered
Chosen Option : 1

Ans

Q.25 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is
no need to substitute it, select ‘No improvement’.

Rohit Sharma have declared the best batsman of 2019.
Ans x 1. had declared

X 2. is declaring
x 3. No improvement

4. has been declared

Question ID : 8161613052
Status : Answered
Chosen Option : 4

Section : General Intelligence




Q1w v geERe B TgeT w & T B @ REat o gt # RER sgen S ae?
(56 +7)+ 5 x 8-12 =60

Ane X 1ox 3fig +
X2+ 3fx =+
X373R5
vig 3t 12

Question ID : 8161613067
Status : Answered
Chosen Option : 4

Q2 37 ey & TS F A AW 7 F W TER T @ oW TR @ ¢ TE 97 ¥ FERA
BUS : AWP : : CAR :

ans X 1. BCD
X 2 BUD
X 3 CAB
v 4 BCO

Question ID : 8161613082
Status : Answered
Chosen Option : 4

Q.3 v AT e & H,458 F ‘she is good’ F T F @ AT &, 742 F ‘that is cow’ F FT H
for@r =mar ¥ 33K 841 F ‘good is bad' ¥ w F for@r AT &1 36 s F Hla & §E&AT ‘bad’ weg
FT e 272

Ans x 1. 4

Question ID : 8161613075
Status : Answered
Chosen Option : 4




Q4 ofy goat 3l F T GUUT F W PQ T W@ AT &, A FiT T 3caT AT TeT AT F @
adoT St &2

ez

v §H

<

Ans

Question ID : 8161613089
Status : Answered
Chosen Option : 1

QS R e geat Iy # FES B AT FFH AR A T FES F FeS H AR gE aE § g
3ea AT F AT L S FEIA H A Word W @S &

\J! DA
Ans

d

"L
3
AL AL

x>
AAAA
AR A"

X
AALaA

vy

xa 3
<
AAAA

Question ID : 8161613088
Status : Answered
Chosen Option : 1




Q6 37 3ea P F TTF FY, O & 7 ofe F Wt | Aga s 5T Fwar ¥

@ @, ($) ¥ gl ger
%

( $ |# #, (!)é:ﬁqﬂ?rgﬁ'm

I) %, (+) ¥ Faoda gem

Ans

X
COREY,

x
&

&

<
@

Question ID : 8161613084
Status : Answered
Chosen Option : 4

%7 3@ 37T HY TEIT FT ST T A0 T TR T8 T

LL O S U X
Ans  f 1 g

XL

X3 X

X4+0

Question ID : 8161613081
Status : Answered
Chosen Option : 1




38 foweT & 7w F Swe dwy 97 ¥ @ w9y § S g 98 F 9 98 W ¢
a8 PTR:R38::IMK:?

e ¥ K24,
X M24,
X M20,
X K20,

Question ID : 8161613077
Status : Answered

Chosen Option : 1

Q9 Ry v Yot F AATEF AT HL AR 3T TN F TIA FY S SHA T A (?) F WA |

et

Bk
Ans X1 521

X 2 396

v 737
X 4 729

Question ID : 8161613070
Status : Answered
Chosen Option : 3

v ffR¥a % 9 F RDHKLP ® QCJMKO & & # forgr smar &1 38 gesmsr & ROHINY &t &3

Q.loﬁ'msrru?rr?

e X QNIIMX,
v QNJKMX,
X QNJKCX,
X QNJLNX,

Question ID : 8161613074
Status : Answered
Chosen Option : 2




Q11 3 3R HPfA F TIF W A AR T Hpfa F 927-Fea (?) & w7 W

T
GOX‘ﬁGOXkG ?
Y1 X To |

Ans

X

kS

Xl.D

X

%
O D

0

b
Q
%

SN

X
0
G >R > X

Question ID : 8161613085
Status : Answered
Chosen Option : 3

39 TEAT F 999w St fArafaf@a Sof & gea REa (2) F T woameeh)
1. 2 4 7,18, 24,44, 7

Q12
ae K73,
v 81,
X 112,
X 63,

Question ID : 8161613069
Status : Answered
Chosen Option : 2




WP Rl weal @ o affe 3R @i sgEe F Eftyd w7
1. SR

2.9
3. 3T
4. greFaTer
5. e
Ans J - 31514:211
X 235124
x<31234,5

X +53124

Question ID : 8161613073
Status : Answered

Chosen Option : 1

Q14 =z s T F TAA FE o FeA FRY AR ¥ (GAS H ElT A Y

Ans

X 4

i
(A
&

Question ID : 8161613087
Status : Answered
Chosen Option : 3




leﬁﬁmwmzs%ﬁgﬁraﬁ#aﬁ',ua:a‘rquw?zz,5ooﬁamm%|ma’rﬁ;—rqu%?

Ans

X 1. 336,500
v 2 330,000

X 3 332,000
X 4 329,000

Question ID : 8161613066
Status : Answered
Chosen Option : 2

g1 i e o e Pt 0

Q.16

o X 18,
v 29,
X 30,
X 37,

Question ID : 8161613086
Status : Answered
Chosen Option : 2




Q.17 m%cmmmmwmﬁmﬁlmmg%m#an%mmtma

Ans

TE 3 IR R TR Tt ¥ B 9T 9 2,98 Bvw w5 R v Feest § ¥ S @y
sy, Ul F1 AHF T T IFEWT FAVH g/

FYU:

1. & & I §

2. 3o w1 et §
sy

I. wefr Rfeerar er ¥
Il. o Rfeear sm i

X o ar ey | dRa & Il 3gEor & gl
v > Fae fasHy || HFEor HaT gl
X o Fae AT | HTEROT FIT B

X o e | 3R 1l S 3FERoT A

Question ID : 8161613083

Status : Answered

Chosen Option : 2

Q18 37 fywed &1 o H S Il FEw ¥ 9 w6y § S gEd FE w1 vge FEa @

Ans

236 #3263 & £768 £?

X 1778
V2 786
X = 876
x4 788

Question ID : 8161613068

Status : Answered

Chosen Option : 2

Q.19

Ans

TF TEAT T T AR S gU, FAeed F T, S AT FHER A 3 A F W T §, @ A e
& geliaT 99 §'| 38 afed FT Algd ¥ FT FaY 82

X 1. TR/ AR/ T TS
X 2 sicemisie

v e

X+ R

Question ID : 8161613079

Status : Answered

Chosen Option : 3




3 TEIT & 997 H{ S Aeaai@a o § w7 fea (2) F e w o
qz0 7> 16, 24, 31,37, ?

o 42,
X 39,
X 58,
X 45,

Question ID : 8161613071
Status : Answered

Chosen Option : 1

IfE fdr FfEa s & 'UNIQ' &1 'SJCI forer sirer &, ar 38 #ifga s & 'MODE' 8 &R &
Q.21 for@m sreem:

a8 KKXX
X KKXV,
X KKXT,
v KKXW,

Question ID : 8161613080
Status : Answered
Chosen Option : 2

Q.22 In the given Venn diagram, different areas denote different types of players. *A’ denotes ‘tennis players’, ‘B’ denotes
‘badminton players’, ‘C” denotes ‘hockey players’ and ‘D" denotes ‘football players®. Which area represents the group of
all types of sports players?

Question ID : 8161613090
Status : Answered
Chosen Option : 3




3 HERW T 997 H SN HeAredd g@en H WA e (?) F T W A
ABE G E Kedi ?

X L,

Q.23
Ans
v P,
X T,
X O

4.

Question ID : 8161613078
Status : Answered

Chosen Option : 2

Q2% Coafafla sEer & yoT fREa (?) & T 9 A e TEAT F AT Y
4, 5,9, 18, 34, 59, ?, 144, 208, 289
Ans x 1. 90
V2 95
<3 88
X 4 89

Question ID : 8161613072
Status : Answered
Chosen Option : 2

3 3ERT F FUSKT F TUT F A G 7S @ F Nod TUT F 9¢ F gV HAE T F @ T W
HTeT F T FE

Q.25 —Om_onm_mnon_omn_n

ae #C NNMMo |
X  nmomn,
¥ mnomo,

X moomm,

Question ID : 8161613076
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude(Basic Arithmetic Skill)




Q1 frm o & eI FY AR TG F HUR W BT 7T FoF F 3o &

«Number of Teachers+
= N WS U

N 5

"20 25 30 35 40 45 50
+——Age in Years ——

45 I § FA 7Y o Marrl H TE, Fo Rarwt B FEw H e giaa 2

Ans X1 60%
X 2 30%
v 80%
X+ 8%

Question ID : 8161613113
Status : Answered
Chosen Option : 3

Q2 A 3R B Fr-arher Bl G @ HOT FAe: 12 AR 16 B F W wwa F A T gw w1, IR
T-TY F TAF T FH G §, o o Rt F dar # fwor g g seer?

" 12 R
X272 R
X362 R
v+ 132 R

Question ID : 8161613091
Status : Answered
Chosen Option : 1




Q3 & a1 amgfay & AP, BC % 3ifiieiaad § 3R AQ HI0T A F1 THES:=F (bisector) &1 T PQA &

AT AT F

Ans f 1 7E0
X 2 60°
X 3 50°
X 4 30°

Question ID : 8161613103
Status : Answered
Chosen Option : 1

U oy e & FOT A A 3 4 : 8} W
Ans XI. ﬂ

v 2 31 Fror

X > HGfaETg

X o Fg o

Fgr &1

Question ID : 8161613102
Status : Answered
Chosen Option : 2

** 2x- 3y T ¥ RS UGS (factor) ¥?
A 1 4x? + 2x- 3y + 9y% = 12xy
X 2 8x2 +27y?

X3 4x? + 9y? + 12xy

X 4 4x? + 2x- 3y + 36y* + 12xy

Question ID : 8161613106
Status : Answered
Chosen Option : 1




Q.6 ar cfral A 3T B & w1l T AT &7 39T 6 0 5 ¥ &F A & 9l oA A 30% IR F S
Ans ¥ ¥F B & I H AT & fhdw i giE f S wifte fF et et F 9 F @ g = o

56%
30%,
18%,
15%,

X X X &1

Question ID : 8161613096
Status : Answered
Chosen Option : 1

Q.7 A mobile phone was sold for 31,500 after giving two successive discounts of 30% and 10%. respectively. What was
the marked price of the mobile?

Ans
X 1 T35.000
X 2. 55,000
W 2 750,000
X 4 T52.500
Question ID : 8161613095
Status : Answered
Chosen Option : 3
Q.8

Ans T TG ST FETTT FT 3R TG F YR W BT 7T 9o F1 e &

Production of an item by a company

20
80
¥
5 80 60
5 0 45
7 40
2 40 30
30 25
20
10,
o - 11 | -
Mon Tue Wed Thu Fri Sat
Days

YFIR § AFIR T e A Fhas Sfaud #r FrEe g & e

XL 663%
X 10%,
v 40%.
X 20%,

Question ID : 8161613114
Status : Answered
Chosen Option : 3




3320 Fr ufr fFael 3afr & sgav 7405 g seeh, IRy sarer Fr e 12.5% Tif¥s Twafe & amw
Q.9 oY Fr S g

m Y2a
X22> a9
xm%arér
XK+qay

Question ID : 8161613099
Status : Answered

Chosen Option : 1

Q.10 10 cm fa=am e gea #, PQ 3k RS F#er: 16 cm 3R 12 cm &g arel & FHEER e ¥ AR §
&z @ Ralid o wret X Rua g, at Senst & &= & gl 1 w4

Ans X 1.2 em
X26cm
X3 8 cm
v 14 cm

Question ID : 8161613101
Status : Answered
Chosen Option : 4

Qa1 IfE tan 4A = cot (A—20°),0°< 0 <90°%, & A & FT AT FY
Ans x 800 1.

X 50

X 140,

v 22,

Question ID : 8161613110
Status : Answered
Chosen Option : 3

el Remdr &1 15 9IiEt @1 v AR sitwa €1 168 o F a7 120 & sa@r €, Sww 35 dwa
Q12 8 T ¢ S §1 A4 AFT A A

Ans x 20 1.
X 8,
X 24,

v 30,

Question ID : 8161613094
Status : Answered
Chosen Option : 4




Q.13

Ans

T % FT 3eYTT FY IR TF F HUR | BT 71T F2F F 3ea} &

Production of an item by a company

90
80
% 70
60
E ﬁf(, a5
* 0 - 30
30 25
20
10
0 1 - 1]
Mon Tue Wed Thu Fri Sat
Days

fFw &1 1 3cE, For 3eMEA FT 1/5 A4T?

Jl.QWT
X 2 FeER
X 3. TRAIR

X4.§W

Question ID : 8161613115
Status : Answered
Chosen Option : 1

Q.14 g, #1¥ T5g TlE § 3T BT 0 3810 F aweh ¥1 AR 3@ 10% @y @ &, A 4% F oA

Ans

T W F BT 38 I8 A R qw W e afe?
X 1 %900
v 2 3936
X 3 %729
X 4 %864

Question ID : 8161613097
Status : Answered
Chosen Option : 2




Study the following graph and answer the question based on the graph.

N

N

«Number of Teachers+
= N WA oo

NA >

720 25 30 35 40 45 50
——Age in Years ——>

Qs How many teachers are aged 45 years or more but less than 50 years?

Ans x 2 1.
X 3,
X 6
v 5,

w

Question ID : 8161613112
Status : Answered
Chosen Option : 4

Q.16 g ¥ @ aEad 72 O Mex ¥ SHA 60 X gfy AT ¥ G F U ST ST B EF W s A
T T FHT AT

XKL 129
X210 g&
v 20 gE
X4 6 Te

Question ID : 8161613093
Status : Answered
Chosen Option : 3

8, 13, 26 3T 40 # T Yi% TET H T A TEAT H ST AT TRT aATF 3T HF F Iod FET
Q.17 TN #an

Ans

€ X X X
Nw-hNAW

>

Question ID : 8161613098
Status : Answered
Chosen Option : 4




. sin 20° cos 70° + sin 70°cos 20° T AT AT FL)

Q.1
1
Ans xﬁ
v 1,
X 0,
X 2,

Question ID : 8161613109
Status : Answered
Chosen Option : 4

Q.19 g yeenfEar weee A 3R B, s @9 1 g 1800 km ¥, & T @A FAW: 44 kmth 3R 46 kmih F
Hed T § T gAY H AR ToAT YE T ¢ T {TENSAT F@ W TH-GI § He?

v e A T 880 km
X 2 Tt A ¥ 920 km
X 3 ¥ B & 880 km
X+ TeT B ¥ 900 km

Ans

Question ID : 8161613092
Status : Answered
Chosen Option : 1

Q20 IfE sin + cosec® = 2, & sin? 6 + cosec? 6 HT AT ATTHI|
Ans , 2 1.

2.

1
4,
8

X X X

4.

Question ID : 8161613111
Status : Answered
Chosen Option : 1

Q.2110-[121+(11x11)-(-4)-{3-(8-1)}]$rm?r?n?rﬁ|
X -1,
v 1,
X 0,
x 19,

Ans

Question ID : 8161613108
Status : Answered
Chosen Option : 2




f&ar T/ § & 220+ 1, e o7 wew @ U R @) e § @ wla & g sd@ s w

Q.22 T R gl

as N 2P ® R,
v 280 4+,
X 5 x 2303‘
X 2% 4+,

Question ID : 8161613107
Status : Answered

Chosen Option : 2

% (ax+by) sTH ¥ Frwe quEEs (factor) 7
Ans X 1 a%x? +2ab + b%y?

X 2 a%x? +2abx + b?yx
W 3 a?x? +2abxy + b?y?

X 4 a?x? +2ab - b?y?

Question ID : 8161613105
Status : Answered
Chosen Option : 3

e TR 9T FT ATEA 1637 +8x + 1 FoT SHS ¥ IF H FAE AT H
X1 4x SHS

V2 (4x + 1) SFE

X3 (4x-1) ZFE

X4 (4x+1)? oS

Q.24

Ans

Question ID : 8161613104
Status : Answered
Chosen Option : 2




Q25 & =1 smpfa A, PORS, v TH@ Igss §1 AR PQ, SR & WA &, & H0T PQR & AT w71
Ead

Ans X 1 70°

Question ID : 8161613100

Status : Answered

Chosen Option : 2

Section : General Awareness

Ql g Mt T T AFdT AR AEaTTd ¥ F @andt ]
Ans xl'iﬂ'{'

X2a

v 3

X 4w

Question ID : 8161613138

Status : Answered

Chosen Option : 1

Q2 edw om 31er 2 2019 Famh 4 ATeREE W IER SR A F Ff @R HETH )
FHEIT 3 $?

X L smrer

Ans

Question ID : 8161613120

Status : Answered

Chosen Option : 2




Q3 g z1'— 9= HT 3eEIOTY
Ans  of Ly e
X 27 dom
P QR

X 4 qrgar

Question ID : 8161613125
Status : Answered
Chosen Option : 1

Q4 g T EW FTT  qIdTEEFEL’
Ans X 1g3 @ ke
X 2. s s

N

x4-a-1:'?ra|c;v|?r

Question ID : 8161613135
Status : Answered
Chosen Option : 3

Q5 gawm A EEA wErd’
Ans x l'Hr!'{

\lz'ﬂaaa?ram

X 3 am

X 4 3t

Question ID : 8161613132
Status : Answered
Chosen Option : 2

Q6 ggar  SNYd = FUN EASF AT F WHFTA IHRE T T AN AT FEardrt
Ans o Lgeaa o Gy ofw)

X 2 3 orests ggem )

X 33 adigor)

X4-w§@w G & 7 @

Question ID : 8161613129
Status : Answered
Chosen Option : 1




Q.7 37 330 7 ITAT &<, § U AT ITH (INA) FT HTG AT T (motto) ar) ANS

x 1. 3T ¥ yge Jar
xz.mﬁ?&g&m

x3.«'ﬂ’rmm’r

«4. TahdT, T <21, & elalel

Question ID : 8161613133
Status : Answered

Chosen Option : 4

Q.8 '3 AR VSR & T IR F e ATET HT &7 A &2 A1 v 1
6l 3TURAT (H NSl 7 H)

xz.@nasra%a’
xa.q\nam%rr (A8 SSHIAT A )

X 4, 37T T 37T

Question ID : 8161613123
Status : Answered
Chosen Option : 3

Q9 ooy HoEs HHW —— @t ¥
Ans X L grew

X 2aq

X 34w

Y

Question ID : 8161613126
Status : Answered
Chosen Option : 4

Q09T AT FTFFREI
Ans xl.sia'm'c.'
K 2 aromeira
x3.3ﬂﬁw
le.a»‘rai?rl?r

Question ID : 8161613131
Status : Answered
Chosen Option : 1




Q.11 'AEH (Matki) AT T TT A A FATIFAF =~ TANF T E?

Ans ‘ll.ﬂuéar
P

s s

x 4. 31T UTed
Question ID : 8161613118

Status : Answered

Chosen Option : 4

Q.12 "ATH THT o A A (Malavikagnimitram)' & A& HieT §?

ans X 1L#teT

v, s

x 3.1 F

X awe

Question ID : 8161613119
Status : Answered

Chosen Option : 2

Q13 3 g (BASIOG g sw % e 7 BASICarqur o gam 87
x 1. TR IS THeHi  Uu Eﬁ'—s.(Beginner’s All-purpose Systematic Instruction
Code)

X 2. WWWW (Beginner’s All-purpose Symbolic Input-
output Code)

x 3. Wmm Fre (Beginner’s All-purpose Symbolic Input Code)

J 4. FIAERIT RIsEat CEH of AT (Beginner’s All-purpose Symbolic Instruction
Code)

Question ID : 8161613117
Status : Answered

Chosen Option : 4

Ans

Q.14 SRR § TEIT & AT IV A (3] B 51A) 7 Felel Al aF Hel AUTIT HUITF?

Ans 1.11

2.10

w
.
N}

X X X &

»
©

Question ID : 8161613136
Status : Answered
Chosen Option : 1




Q.15 9RA A 91 F13 (I T 3 T F13) Fa Y FIT 74T AT?

Ans

1.1963

2.1972

3.1949

X X & X

4.1969

Question ID : 8161613130
Status : Answered

Chosen Option : 2

Q.16 AAET 2019 H, 7 o of T A & FH AT A 'S AT STl ATSH b Tael (IISF)’ T 3TATST=T AT AT

Question ID : 8161613122
Status : Answered

Chosen Option : 4

Q17 g g5 'Sreer A & §w & Aeisier dger -t ser(Bridsital Nation — Solving

Ans

Technology's People Problem)' 5 Srmresie
p QR B —
X 2 e e or
X 3 ARmor g
v % o v

Question ID : 8161613134
Status : Answered
Chosen Option : 3

Q18T T T WA A A FH ool & Tell o GHAT 2019 3 AT 5T & TARIR STk 7 T 9.3 (LPG) AT e ATE & 9 3T

Ans

F o

Jl.wﬁe:ﬁmaﬁwiﬁmaﬂé—g
xz.ém}ﬁmaﬁw@mam
xs.'s' T T <) STH I I of ACS

x4.w1'a'ﬁ3‘s' TAHAS

Question ID : 8161613124
Status : Not Answered
Chosen Option : --




Q.19 AR  TETT FT FIA-HT 3] G, HRAT T T T HY HHEG & FTHIA F FAT I A1 AT FIA HT 37
TFR AT 82

Ans ‘,1.34@@@123
xz.aﬁra‘chz
xs.sigratalz

x4.31§r€}‘c\'213

Question ID : 8161613137
Status : Answered

Chosen Option : 1

Q.20 Which of the following symbols must be used before a formula in a Microsoft Excel sheet?

Xie

Ans

Question ID : 8161613116
Status : Answered
Chosen Option : 1

Q21 gy % @R 2 1 kg o6 gen AFEEAH —— Feromr
x 1. PRI (Phototropism)

x 2. srorgaaHydrotropism)

x 3"3!‘%]1?:!)33?1' (Thigmotropism)

J 4. eiEenc (Heliotropism)

Question ID : 8161613127
Status : Answered
Chosen Option : 4

Ans
Q.22 FATS G FH & W §IHT TR 7 38 FTA 82

Ans xlﬂﬂﬁ@

,2. MEEDC)

K s g

x4.3ﬁsﬁ<—~n

Question ID : 8161613128
Status : Answered
Chosen Option : 1




Q23 qra@r 2020 oy & % UK AT F A AU Prerd |
W XK Loy agw

xz-mzﬂrgﬁm‘ﬁ

X 33t

\,4~T~rw

$

gradeup

Question ID : 8161613121
Status : Answered
Chosen Option : 4

AU oy FWRAT SR 1T T FHPIHAT TRATACE’
e Vig g
X 2. 3za e
X3qaas

Xis &

Question ID : 8161613139
Status : Answered
Chosen Option : 2

Q.25 awr2°719=ﬁ ‘3rs 7 TWOA) pydiieait e §ax § AU ami #d §9 I THAT AT
g’

S
v 2
X 3 3 P

X 43¢ FAR A

Question ID : 8161613140
Status : Answered
Chosen Option : 2




